18.06.2013 21:38:37

+7V +5V +7V +5V
® ®
7V4_BATT V4 RAIL \V_RAIL
NEGATIVE 4 POSITIVI IN  ouTl é i é i
BATTERY_WIRHS GND, 5 %&l 5 %;l
C2 5V_REG
10uF J7
GND GND GND
GND ey
@ BBONE_HEADER
3V7_BATT P6 P8
NEGATIVE POSITIVE 1 2
—O O~ O GND GND O
30 o LED_DRIVER O GPIOL 6 GPIOL 7 O
BATTERY_WIRES ot O GPIOL 2 GPIOL3 O
o1 Og O TIMER4 TIMER7 O
O O TIMERS TIMERe O +5V
LOuF O GPIO1_13 GPlI01 12 O ®
% 8 EHRPWM28B GPIOO0_26 8
GPIO1_15 GPIO1_14
O GPIO0_27 GPl02.1 O PG
O EHRPWM2A GPI01 31 O ;O
O GPIO1_30 GPIOL5 O 20
GND O GPIOL 4 GPlo1 1 O O
O GPIOLO GPI0O1 29 O v
O GPIO2_22 GPIO2_ 24 O T
+5V O GPIO2_23 GPI02_25 O O
o) O UART5_CTSN UARTS_RTSN O 20
PWM B O UART4_RTSN UART3_RTSN O O
O UART4_CTSN UART3_CTSN O
O; O UART5_TXD UARTS_RXD O <
O3 O GPIO2_12 GPI02.13 O GND
O O GPIO2_10 GPI02_11 O
O GPIO2_8 GPI02.9 O
PWM A O GPIO2_6 GPI02_7 O
1
2 - 5]
o2 & O GND GND O
o
12C 2 * —O VvDD_3V3EXP VDD_3V3EXP O
T > O VvDD_sV vbD_sv O
hvd 5O OF O sys.sv sys_sv O
GND 5y O Of O PWR_BUT SYS_RESETN O GND
@ 50 O O UART4_RXD GPIO1_28 O
O UART4_TXD EHRPWMIA O “7V
O GPIO1_16 EHRPWM1B O ®
LASER 1 O 12c1_scL 12c1_SDA O
(O 12c2_ScCL 12c2_SDA O
O; O UART2_TXD UART2_RXD O
03 O GPIO1_17 UARTL_TXD O US R
O O GPIO3_21 UARTL_RXD O =
LAS] O GPIO3_19 spiL_cso O 2O
(O SPI1_DO spiL_Dl O 30
O; (O SPI1_SCLK VvDD_ADC O O
03 R7 O AIN4 GNDA_ADC O TR
O RS 1 O AING AIN5 O T
LAS ‘1'n O AIN2 AIN3 O 50
T ’—E £23 O AINO AN1 O B
O2 1k O CLKOUT2 GPI00_7 O O
0% O GND GND O TR
O N =] . O GND GND O
X X lo
S e BEAGLEBONE_OUTLINE 28
30
é{\lD US T
10
2
© O
> 3
? 1 O
* > vee ADO/DIOO
< pourt AD1/DIO1
] oN AD2/DIO2 <
—— Dos AD3/DIO3 GND
——| RESET RTS/AD6/DIO6
—— PWMORSSI ASCIADS/DIOS
—{ pwm1 VREF
g— RESERVED ON/SLEEP
1o DTRDI8 CTS/DIO7
GND AD4/DIO4
XBEE_SOCKET

@,
Z
o

f=0.80 C:\Users\adamleon\Dropbox\EiT (1)\Kretskort\EiT_projects\beaglebone_cape\bb_cape_rev_a.sch (Sheet: 1/1)




